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B.Com. (Third Year) Examination, 2018

BANKING AND BUSINESS ECONOMICS
(Financial Management)

Time : Three Hours
Maximum Marks : 100

PART - A (@us-31) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
4 W S7fer € | Wheh W o SR T el W e T 8
|t wel % o7 wEE ¥
PART - B (@us-9) [Marks : 50

Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.

YO TS W Ueh-Uah W9 74 BT, Fa uie e wifem

Heieh WA 1 ST 250 WAl § Stfersm 7 @)
Tt U¥Hl & 3 wum ¥
PART - C (@ug-w) [Marks : 30

Answer any fwo questions (300 words each).
All questions carry equal marks.
% S T I | Fe T I 300 Y | St A A
Tt we ik WA
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PART - A
(@ve-31)
UNIT - I
(FhTE-1)
1. (a) Which increases the wealth maximisation ?
Tee] SRt § e gfg 2t 872
(b) X wants to buy a house after 5 years when it is
expected to cost T 24 lakhs. How much should he same
annually if his saving will yield a compound return of
12% ?
X Ui o 918 TE W T ARl § o SuE geifed
W 24 @@ w01 | 39 Tt i a=a i wey
R SHR! T9d 12% Y TEH F
UNIT - IT
(g=mE-11)
(¢) What are sweat shares ?
e 39 T E?
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(d)

(e)

()

5 years 8% debentures of ¥ 100 each issued at par.
These are redeemable at premium of 5%. Findout cost
of debentures if flotation cost is T 3 per debenture.
S T4 8% FOTH T 100 Ffel T T T Y ey
aﬁ%uﬁs%frﬁmm?ﬁm%la@mﬁ’faﬂmm
Ffe | =f forf amma 3 3 why o

UNIT - 111

(FTE-111 )
What is under capitalisation ?
STETYSIThTOT T el &2
What will be degree of operating leverage if a firm

does not have any fixed cost ?
R SEle F A F4 ER A v e § ot

A faerge ot =&t &2
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UNIT - IV
(FE-1V )
(g) Whatare hybrid debt instruments ?
o T WO 1 B § 2
(h) According to Gordon model when firm is having r <k
then what well be optimum dividend payout ratio ?
it Y 3 A AR T A r <k ¥ @ SR
ST AT ST 2
UNIT -V
(3E-V)
(i) What is safety stock ?
e Wi B 87
(j) Define debtors aging schedule ?

S el g B R R
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PART - B

(Tve-=)

UNIT - 1

(F@é-1)
2. Differentiate between profit maximisation and wealth
maximisation objectives, 8
T SR T ) sHferpeie Sk § s i

OR ( 319 )

3. After reviewing his budget X has determined that he can
afford to pay T 18000 per month for five years towards a
new car. He calls a bank manager and learn that the going

rate of interest on car loan is 1.5% per month for 60 months.
p

How much X should borrow ? 8
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UNIT - I

(gehTE-10)
4. Explain the determinants of capital structure of a firm. 8
o e = et e 3 P e 9 0 |
OR ( 319ar)
5. A firm has the following capital structure :
e ) Teit s Frefoted €
60,000 equity shares of T 10 per value 6,00,000
60,000 T 39 T 10 W TH oA W |
12% irredemable debentures of T 100 2,00,000
12% 3reiera o X 100
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8% preference shares of ¥ 100 which are currently 2,00,000
8% AR 3791 T 100, § T 95 W Ak &
Sold at ¥ 95 and maturity period of 5 years.

ﬁm%ﬁaﬁ%am#ﬁmmaﬂsma%u

The company expects to pay a dividend of ¥ 6 for next 5
years and expects to grow @ 5% p-a. continueously. The
current market price of firm's share is ¥ 30. Calculate the
book value weighted average cost of capital assume tax rate
50%. 8
mmsaﬁ%fﬁq?emﬂmwﬁﬁmmﬁ%
3 5% v 9f 1w e Tt &1 v 3 s A
T4 % 30 ¥ | T o snenfi i sftem Ioft =1 @

THIFTT | T Y = 50% TR |
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UNIT - IIT

(geRTg-111 )
6. What are remedies of over capitalisation ? 8
arferdsirtor s Sish S F IIE FE?
OR ( 37er@r)
7. The following figures relate to two companies :
2 it § gty s frefafed § -
T Lakh
Particulars X Ltd. Y Ltd.
Sales 1500 1000
(o)
Variable cost 600 300
(ftad=eiiet @)
Contribution 900 700
(SHIRH)
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Fixed cost 4500 400

(feer wmT)

Profit before Interest 450 300
(AT g =)

Interest 150 100
(=TsT)

300 200

You are required to :

(i)  Calculate operating, financial and combined leverages
(i) Comment on their relative risk position 4+4=8
31“‘15}?[ .

() uftarem, fawdia wd G99 STee @i T HE

(i) et TnfeEs Sifew feafq o feooft w0 &1

UNIT - IV

(FTEIV )

8. Write a note on foward and future contracts. 8
ifir e et e W U o fafad |
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9.

OR ( 319ar)

X Ltd. belongs to a risk class of which the appropanate
capitalisation rate is 10%. It currently has 1,00,000 shares
selling at the T 100 each. The firm is contempleting declaring
of dividend of T 6 per share at the end of current fiscal year
which has just begun. Answer the following questions based
on M.M. hypothesis of no- tax corporate taxes :

(a) What will be the market price of a share at the end of
the year if dividend is declared and not declared.

(b)  Assuming that the firm pays dividend, has not income
of T 10 lakhs and makes new investment of ¥ 20 lakh
during the price, how many new shares must be issued?

4+4=8

X fer. fiorg SiflEm e | St & S defie i W 10%

% | = 9§ TEH 1,00,000 3i & S s T 100 W o w@

¥ | e = Y ¥ i H 6 T wf sfw T faeor & WA

T ¥ | T, e 3 R T e T arqafefa |

= ol & ST E’Tﬁm s
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(37) =4 = 3ia # ofw 1 gou @ €M A ey S faar
i 37 &t feman s &

(F) =& T g o vl amite a0 e e 2, 1w e 10
TG 93§ a9l 20 T w1 A At s € fea
T4 i Frifea iR e e =fed

UNIT -V

(3@T3-V)

10. X Ltd. has to select one of the following projects :
X 1. =1 f=1 ufidismsti 4 @ frft v s we &

Project A Project B

< 4
Cost 11,000 10,000
Cash inflows :
Ist year 6,000 1,000
2nd year 2,000 2000
3rd year 1,000 2,000
4th year 5,000 10,000
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Using IRR method suggest which project is preferable. 8
mmammmm@wwmmﬂ
1 wrefteRa & S

OR ( 319@r)

11. Describe various costs associated with receiables. 8

e g faf @l B HeEE |
PART - C
(ErE-H)
UNIT - I

(3=E-1)

12. "The role of finance manager today as considerably different

from what a few decades ago." Explain. 15

“ a7t o e wﬁmws@mﬂa@fm%sﬁmﬁ

7d T} T i
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3.

14.

UNIT -1
(FTg-11)
Write a note on stock exchange functions and operations.
e TS % el ud frafafy w uw da fafed ) 84715
UNIT - 11

(3HTE-101 )

If the combined leverage and operating leverage figures of a
company are 2.5 and 1.25 respectively, find the financial
leverage and P/V ratio given that the equity dividend per share
is T 2, interest payable per year is ¥ 1| lakh, total fixed cost ¥
0.5 lakh and sales ¥ 10 lakh. 5+10=15
I WYH I T Il w25 8 125 B a fas
ITEF T A A S T FAG | T i e s
%2, 9fd o 37 = U @ %, T WE G 0.5 T e

fora 10 s . &)
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UNIT - IV
(FEE-IV)

15. Explain factors affecting pricing of options. 15

mﬂﬁéﬁmﬁaﬁwﬁaaﬁaﬁmaﬁmaﬂﬁm
UNIT -V
(3FTE-V)

16. X'Ltd. requires 2000 units per year, each unit costing I 20.
Its order cost is T 50 per order, normal lead time is 30 days.
Due to better transportation safety stock is not required.
Working days in a year are 250. Further details are as follows:
Storage cost is 20% per annum, deteriration and obsolesance
cost is 25% of storage cost per annum. Find out :

(i)  Economic order quantity

(i) Reorder level
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(iii) - If a 3% discount is offered by suppher for purchase in
a lot of 1000 units more., should firm accept the purposal.

5+5+5=15

xﬁw.ﬁ?zowﬁrmmmﬁtzowmﬁaﬁmﬂm

& | THRT ST TN W ST T 50 ¥ | W T s 20

ﬁwﬁlmmﬁgﬁmﬁwmaﬁm?ﬁ%l

aﬁﬁzsomﬁm%laﬁfﬁﬁm&ﬁ%ﬂ%:

szomaﬁm,wammwwﬁwﬁraﬁ

mwwm‘fa;rzsuﬁm%uamaﬂm:

(i) nfels ey 3w

(i) A A=Y TR

(iif) w&iﬁw#wmmﬂ?mm%@w%m
R 3 Wi G2 B T A @ w g v
TR FTT F1fE?
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